EAGRAROBREERT — 2 N— ABISH —F 20205F9F29H (X) 13m<£R4H

mrﬁfr CMFEBE C13 H7%—#% \ [(x42] W \ [3eEmm]l - | & (&) 15000 BBE
[x&4£] 1% :270,000™ ~ 23#%&:7500M”  3#%&:37,000M  43%&:27,00MH . 573%&:21,000H
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. R KEH :37. -1-1- . — il HEz (£iR)
i 4 EPINZFR i3 = 1(3_7)5 1-1-1-1 [ 38.2 1 (ztjsgo) TRz
R:ixALI=Z Ty —R BAV—TA—YRE— EEitae
o o SBARKR— :37. == . — hnEEFNE (£R)
slgls NILY o R7HE 4 3 s 1(317)7 2-2-2-2 | 38.3 2 ig? Ly
LW—5—-v7 B:F077— TATHHS
P — i o4 | BLURF 1:39.0 3-5-3-3 |39.4| — 3 47 | BSF (£R)
3|5|5 OAXE®Tyh 56.0 (6) (-5) FHREIE
L:/GrURN B:UF3MLA—% ZRET7 7 —L
MR . 65— — 1% (2R)
al7l7|7+=2%v0U7 o4 I 1.(319).2 4-6-5-5 |39.2 5 <4+511) el
R:T—oTr—R B:L->LF1 HET7— L4
e hEgE 40, _an_ . _ JIZSBABA (£3R)
. 3| TUFL YR B4 e 1(4:))0 4-3-3-3 | 40.2 4 (4_527) s
R:AX—b77)0> BET4—4—7 ke
N FREBLRE :40. —-3-6- . — 2XRE (&R
6 2| 7UTE-UZT o4 i 1(14/02>1 6-3-6-5 | 39.9 6 (4_638) o
L:Zh—7 BTLIvRT147 LA
o £ 4 | MBHREF 1:41.3 8-8-7-7 |40.6| — 8 502 | DIEEFIER (£IR)
7 6| 1V LARAN=TN 56.0 ) 4y | W Tr-—ztETaL
Rid—WRTU2— BiAvIreOq "= %
# o6 | FREBA 1:42.4 9-9-9-8 [40.2| — | 9o | 481 A2 &R
gl1]1|F73—-X 56.0 (5) (+4) | B~
R:TAY L TROY BitA AR L b SN
y e > 8 | EHBE 1:45.6 6-7-8-9 |43.7| — 7 446 | DNEEFIE (£IR)
9189 Jagar~<ad4 R - 56.0 (214) (+1) (%) 77—ZrET 3>
L:ARTARTRIL B TIHFARZ b RS
@ I—F—@EBIERL
|3=7r= 4,8,5,(3,7),(2,9),6,1
23—5+— |[4,8,(2,3),5,7,9,6,1
3T—7— 4,8,(3,5),7,2,6,9,1
43—+ — 4,8,(3,5),(2,7),6,1,9
[ N
B 4 1909 714K 4-8 150 & 4-8 180 &R 4-5-8 600F
# B 4 100/ 4-5 350M B 4-8 460 EE 4-8-5 1,610
8 110 5-8 510 B = 4-8 220
5 170M B H 4-8 400M

ARICOVWTRDTEEERROODE. TR LI,



